Announcements — Lecture XIX — Thursday, Nov 17t

1. s iClicker:
.= Choose any letter: A-E

-uf§m|
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8.7 Acid Base Properties of Pure Water
Example |

pre

« An aqueous solution has a hydronium ion, H;0*, concentration
¢ ; -11 i i IS — o
of 1x10-""M @ 25°C. This solution is K = 1o @ 2s%

i %:CD

a) acidic b) basic v c) neutral

[Ms0"JTOW] = 1xo™

(xio™) ToW] = (wio™
lon] - 3o

1% 107"

= 1¥1073

[on] 7 [H30")
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8.8

What are pH and pOH?

pH = = Jog, TH:0']

FOh oy o]

Johe 903‘0 of fioth sides :
Jidy this wp
Molhiply fith sides fy-1

[W:0'1Ton] = o™ @ asc
fog., 11:02T0H) = g (11107)
903,0 1430°) + Jog,, Tow] = -

-Yog‘oi\\so*] -903\010“‘] = 14

— J\ Y J

FH pOX

?H + pOH = 4 @ 25°C
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8.8 What are pH and pOH?
pH - Acidity and Basicity

Sol) P“
ThepHScale * &3 cidosts, pH< 13
=G hat & 008 <, s, gHI 145
L
A YL
m i ;.:E m
" cEo8E £
Moge acidic =S More basic S
Acid Neutral/ Alkaline
o 1 2 3 4 & @& 7 /B 9 10 11 12 13 14
S o A ) S &
RS &EE & @ W
e & & S O
Hﬂﬁ 3 Fie & 5
L & & o
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9.8 What are pH and pOH?
pH - Acidity and Basicity

Plant Preferences for pH
Very acid Moderately acid Slightly acid Very alkaline
50-58 55-68 6.0-68 70-8.0
aralea bean asparagus acacia
blueberty begonia beet bottlebrush
celenac Bruszels sprouts bok choy cabbage
chickory calla broccoli cauliflower
crabapple catnellia goosebetty celery
cranberty carrot grape Chinese cabbage
egoplant collard greens leale cucumber
endive corn keohlrabi date palms
heathers fuchsia lettuce dusty rmller
huckleberry garlic trstard eucalyptus
hydrangea lima bean muskmelon Zeraniim
Irish potato patrsley oats oleander
lilyr pea olera olive
lhapine pEppErs oo pertwinkle
oak putnplin pansy pinks
rasphetty radish peach pomegranate
thododendren  rutabaga peatut salt cedar
thubarh soybean pear tamarisk
shallot souash pEONY thyme
sotrel sunflower tice
spinach beet tomato spinach
spruce turnip Swiss chard
wild strawberry  wiola
sweet potato
watertnelon
white birch
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8.8

What are pH and pOH?
pH - Acidity and Basicity — Example |

=* An aqueous solution has an [OH] = 1x10-° -
* the pH of this solution is: q

pOH = -908\0 (\xvo")

= 5

PH*'POH = |4

pH+ 5 =W
PR =9
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8.8 What are pH and pOH
pH - Acidity and Basicity — Example ||

a) A 0.15M aqueous solution of an acid HA has a measured pH equal to 0.82
b) A 0.45M aqueous solution of an acid HB has a measured pH equal to 0.69v
c) Tom, | have no idea.

schciur

Which solution is more acidic? - -

The moRe acidic Solulion .. the one with the smolflest ot
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8.8 What are pH and pOH
pH - Acidity and Basicity — Example il

a) A 0.15M aqueous solution of an acid HA has a measured pH equal to 0.82 /

b) A 0.45M aqueous solution of an acid HB has a measured pH equal to 0.69
c) Tom, | have no idea. -

[

Which is the stronger acid? e

o) pH = -903\0 THy0")
: - Yogw (0.15) = 0.9% . QI?QC\'Q(\ M % Whrsa s\‘RU“% atid .. 100%
?ﬂ ?\'\ T - 908\0 ‘.\’\‘50*}

- Jo,000.45) = 035 .. expected pH§ HB isa Shaomg arid .. 100%

HAGag) + K0 — W0 + A . s\mmg acid.
HB (aq) + HOMN &) H30" + B peck acid.
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8.10

What Are Buffers?

Qcd .. ok

1M CH3CO2H(aq)
1M NaCl 1M NaCH3COz2(aq)

?H 7.00 1.00 CAL) Twriaw

ol 1.0y \.0l 4.65 Apo H:0'

pH 1296 12. 96 | 4.%3 Aoo OK-
Jarge oM chamges Smolll R hosges.

Base .. ?U
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8.10

What Are Buffers? - How Do They Resist Drastic pH Changes
Acid-Base Reactions

W Nedh S: S\'aong A: Qud B: Boxe

. SA +S9®

100% Ha0" + OW = Ha0(R) + W00

2. SR +WB =100% H30™ + NH3(g) = Nrly + V2000

3, WA +sB

100 /o HCN@) + O™ = N+ H20 ()

4. WA+ WB

ol
s-‘\J
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